Doc. N.° 1STS100032R0001

System pro E power

Instruction handbook Manuale de instrucciones

Manuale istruzioni PykoBoacTtso no cbopke
Montageanleitung Instrukcja montazowa
Instructions de montage

Warning! Installation by person with electrotechnical expertise only. Avvertenza! Fare installare solo da un elettricista qualificato.

Lebensgefahr durch elektrischen Strom! Avertissement! Installation uniquement par des personnes qualifiées
Nur Elektrofachkrafte und elektrotechnisch en électrotechnique.
unterwiesene Personen ddrfen die im folgenden iAdvertencia! La instalacion deberé ser realizada Unicamente por
beschriebenen Arbeiten ausfuhren. electricistas especializados.
PPFM.... PCPA004 ZN1041
4x ‘/’ 4x 4x
R i
s}i; a % -
2x / @ h
2x z N @ @jmmm @110 mm
\ TORX 30
a b 3
4x | Gwm O M6x12
4x | B TCE| M12x20 1omm &) 2N
|0 M2 19 D= Qﬁ
4 | O
8x | bmm M6X10 Torx30 & 4x | b= M6x10 [Torx 30 &— @19omm

o M6X10

ISSOSTSO e
SeSuSevuta.

100

£ Xy i} ot

A1l A2 A3 A4 B1 B2 B3 B4

348 2
444 476 498 421 376 344

598 5
B3 848 7 694 726 698 621 576 544

B2 1098 1021 944 976 898 821 776 744
B1 1348 1271 1194 1226

<
—

194 226 398 321 276 244

N
=

~
—




‘WW e \MBX10

<

@ o

SRS LIS L RS NS LS RS LS LS RS LIRS b s sy
[~]

@
SUTOTOTUTUTOTATO SOOI O ST

A

SUSLLTUOTVLTOTVSOTUSVO Q¢

Z~

www.ABB.com

Member of CISQ Federation

RIRG

CERTIFIED MANAGEMENT SYSTEM

1SO0 9001 -1S0 14001
BS OHSAS 18001

1STS100032R0001 - 10/17

We reserve the right to change the contents of this document without prior notice, in the
course of technical development of the product.

Copyright 2017 ABB. Al rights reserved.

AL HR HD
oW



